KEMALEEBHR EER)

£H7E28108 WARR 10 kY (FROEMRA, Ke)
T T E] EERIE]
22 = G = G
A e B selonlz@El " s@]o B & @

ZRIED | = = 61 31 | 1,620 324 30 | 2,000 1,300
R0 | 2 B | 1,305 1,305 | 1,404 100
x5 | & B 83 27 648 56 | 1,550 1,250
U6 | W O 109 31,944 1,800 | 106 | 2,808 324
puEshy| & OE 2 2 1,944

FEES

x 7

7z | = B 15 7 2160 8 1,728

BEC M | = = 12 2 1,080 10 1,620

B R F

S0 | ¥ & 20 20 | 6,000 4,000
¥ B | &2 F

®) IC p | AE] 4 4 148,600 27,000
FF<H | = = TolEn 117 | 2,400 1,300
H=0 | bee 5 5 1,500
LU# | B &

W B | 2 §

K B

h =| &k B 541 541 | 5000 633
H 0

S5h=| & & 15 15 | 5,600 4,700
WhU | = W 612 612 | 486 217
"HC | & B 170 170 | 648 250
PHC | & M 76 4 378 72 972 936
ApU | & B 290 200 | 459 300
s G| E B 216 4 810 212 | 864 521
EhZ | dbma

DoO® | FRU 16 16 2646
TV = W 896 896 | 1,026 972
TAND | B B

BEESD | A D 646 646 | 1,404 1,120
EHob | &k & 20 12 864 8 1,250
FHHAOH| W O

WekD | W O

=EDh5 | R B 51 51 [ 1.950 1,296
<ZEIS 47 47 | 5,184 2,000
WA S

=D 29 29 2376
RBACHD

Bhn | It F 10 10 1,728
wENzU| B D 20 22 1,680
BH=2U| B 10 10 1,480

s = o

s UY

s D Ic

s & ] A R 263 263 | 1,652 1,200

T 1. PERmED 1 DDBs

10,365




KEMARZEHRH (M0T)

HHT7THF28108 B®@8 wAmg 14 FY

= = | ¥ o B B2 =[] iR 7 (B
Dz = T U539 11

ZAY T gTHIC 1

WhLEF 1 X D¢ I /]

HED T - AWaL 1]

A O T BICC T

WHLATF : " < A=Ak i

Sz0aF| = B| 460 |1]1.566 540 | [goiEC T

Nk I BE=ZEg /1

SAZRHT T [Eezvn| X B 144 |1 1,548
FLON®D T B = 811 2,448
TN T (BT A0k | 13 [ 1 2,190
| 2155928 1 henik=1P) 1

hFEC| K E| 704 [1]2,372 540 | [EBOF 1]

5 < DIA R[1.701 [1]|3816 467 | |mnmoF T
EEANER T ESAZE 7]

e & 1R| 80 [1]2,160 1031 | [EET 1]
EEEK] 1 E=@Jt x| b62 | 11| 864 749
FRERE T B &= o+ T

Az LBE 41n 2.808 BB A 7 1

BMEshU|s EX| 0D | 12520 1,000 | (W< 5 11

ppEngg| A I B[ 2208 SRIC LA T
B i BT 5 17
Edspiaicy 1
zrsomn| & A | 1956 [11]1,100 800 | | ZDfth 9,702 |1

85 & 14,229 |kg




